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QUESTION 1

A session bean business method invokes UserTransaction.setRollbackonly and receives an IllegalStateException.
Under which circumstance can this happen? 

A. The bean is using bean-managed transactions regardless of whether there is an active transaction. 

B. There is no circustance that would cause setRollbackOnly to throw an IllegalStateException. 

C. The bean is using bean managed transaction demarcation, and uaerTransaccion.begin has been invoked. 

D. The setRollbackOnly method is invoked within a bean-managed transaction, and userTransaction.commit has NOT
been invoked. 

Correct Answer: C 

 

 

QUESTION 2

Which two of the following statements are true of embeddable classes? (Choose two) 

A. An embeddable class must not be used to represent the state of another embeddable class. 

B. Null comparison operations over embeddable classes are not supported in the Java Persistence query language. 

C. An embeddable class must not contain a relationship to an entity. 

D. An embeddable class can be the key of a Map relationship. 

Correct Answer: BD 

 

 

QUESTION 3

Given the following code: 

Public void create () { 

try { 

doA () { 

} catch (PersistenceException e) {} 

try (doB) (); 

} catch (PersistenceException e) {} 

} 
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Calling method doA will cause an NonUniqueResultException to be thrown. Calling method doB will cause an
EntityExistsException to be thrown. 

What two options describe what will happen when the create method is called within an application \\' uses container
managed transactions? (Choose two) 

A. Method doB will never be called. 

B. The current transaction will continue after doA executes. 

C. The current transaction will continue after doB executes. 

D. The current transaction will be marked for rollback when doA is called. 

E. The current transaction will be marked for rollback when doB is called. 

Correct Answer: CE 

 

 

QUESTION 4

If a Persistence application locks entity x with a pessimistic lock, which statement is true? 

A. The Persistentprovider will lock the database row(s) that correspond to all persistent fields of properties of an
instance, including element collections. 

B. Only single table per class hierarchy mapping is supported with this lock type. 

C. A Persistence provider will lock the entity relationships for which the locked entity contains the foreign key. 

D. A separate lock statement must be called for each subclass in entity hierarchy. 

Correct Answer: C 

Reference:http://docs.oracle.com/javaee/6/api/javax/persistence/PessimisticLockScope.html(searc h public static final
pessimisticlockscope) 

 

QUESTION 5

An application has three entities: the mapped superclass person class entity, and the parent and child entities, which
are subclasses of person. The application has created four entity Instances: 

-Person1 is a Person entity with a primary key of 50 

-Parent1is a Parent entity with a primary key of 100 

-Child1 is a chi id entity with a primary key of 400 

-

Child2 is a child entity with a primary key of 600 
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Caching has been enabled in the persistence unit, the persistence provider supports caching, and none of entities have
the Cacheable annotation applied, or a cacheable XML element in persistence.xml. 

The application executes the following code: 

Cache cache = . . . ; 

Cache.evict(person.class) 

Assume there is no concurrent activity involving the cache. Which two statements are correct? (Choose two) 

A. 

Only person1 will be removed from cache. 

B. 

Person1, parent1, child1, and child2 will be removed from cache. 

C. 

Result is true 

D. 

Result is false 

Correct Answer: AC 
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